3. f(x) = 2 — 3

1
2 + (1/x)
—5 + (7/x)
3 — (1/x?)

sin 2x
X

39. g(x) =

41. h(x) =

43. Iim

x—>00

.2 —1t+ sint
4. t—lllzloo t + cost
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38, f) =7 — 5
X
A0 i) = —
F 8 T s 5/
3 — (2/x)
42. hix) =
4 + (\/2/)52)
i cos 6
44. lm =,
16, T — - sm

Fape JF + 7 — Ssinr

The following limits as x —» o and x - —o0

43 _ 2% + 7
47.f(x)—5x_|_7 48'f(x)_x3—x2+x+7
x+ 1 _ Ix + 7
49. f(x) _x2 3 50. f(x) 29
_ 7x? — 1
51. ]’l()C) o X3 _ 3.762 + 6x A g(X) B x3 —4x + 1
10x> + x* + 31
53. g(x) = 6
%
9x4 + X
54. hix) =
() %+ 5x2 —x+ 6
—2x3 —2x + 3
55. h(x) =
() 3x° + 3x% — 5x
56. h(x) = >

=T+ I+ 9



2\f+x . 24 Vx

57. 1 58. lIm ———
xl)l‘IgO — 7 anC}OZ — \/;
\/ — Vx ox U x
59. 60. lim — =
x—> -1 Ve + y x—00 x 2 — y
53 _ 13 3/ _
61, lim 20 =2l T oy VxSt 3
x—00 48/5 4 3y + \Vy x—>—00 2x + x¥3 — 4

Trigonometric Identities

1) cscx = —

sinx
2) secx =

cos x
3) cotx =

tan x

4) sin’*x + cos’x =1

5) tan®x + 1 = sec?*x

6) 1 + cot’x = csc*x

7) sin(—x) = —sin(x) that is sin(x) is odd

8) cos(—x) = cos(x) that is cos(x) is even

9) tan(—x) = —tan(x) that is tan(x) is odd

10) sin(x + y) =sinxcosy + cos x siny

11)cos(x £t y) =cosxcosy + sinxsiny
tan xttan

12) tan(x t y) - litanxtanyy

13) sin(2x) = 2sin(x)cos (x)

14) cos(2x) = cos? x — sin®> x = 1 - 2 sin?(x)

= 2cos*(x)-1
2tan x
15) tan 2x = >
11—tan2 X
- —CO0S 42X
16) sin®? x =
1+cos 2x
17) cos? x = >
1—cos 2x
18) tan? x =
1+cos 2x

EXERCISES 2.5 P. 122



11. xh_rﬁ) 2/

13. lim tanx
x—>(mw/2)"

15. 1lim (1 + csc0)
6—0

32

) 5
2. xli)vrl(-)l_ 2x
. 1
4. _rli)'rgl_'_x - 3
. 3x
6. hm o 10
8 lim —
w20 5w = 1)
b, (g —=

12. Iim

x—0 x

2/3

14. lim SecC X
x—>(—mw/2)"

16. lim (2 — cot

0—0



